JRNA

PLAYGROUNDS
designed for sustainable and creative play

g |
- @
- |




0301-012-004

(1740)
342 3070
o
I
©
I
dlllp 498 —
1 Lr I I
(1/50)
)
~
o 2101 Q 2101
g @J I y
7272
N
QoQf 8O0B
2 4,5h 28m? 7,3%x4,5%2,9m ~131kg 85x300cm 100kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds ¢ norna-playgrounds.com )

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.






LE16054

LE16062

LE16063

Parts List
QTY PART NO DESCRIP.
1 LE16054 M10 cap nut
1 LE15252 M16x200 mm
4 LE16062 M10x14 mm
1 LE16063 M10x90 mm
1 LE16152 M16 - @30 mm
1 LE16556 @42/38mm

0301-012-004

LE156252

LE16556

LE16152

NORNA 100g
(LE16604)
Lubricating paste

CC




EN 1992-1-1

0301-012-004

LE16406

LE16502

LE13100

LE16406

LE16599

LE16599

Parts List
QTY PART NO DESCRIP.
14 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
3 LE16048 Eyebolt 10x120mm
3 LE16064 @12, anchor
6 LE16406 10x85 mm
14 LE16502 Spacer 6mm
2 LE16599 Sealtite 970 1,5 ml (Glue)
1 S11877 Taifun net

LE16048
LE16064

Hilti




